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Cuadro 12 (continuación 6)/Table 12 (continued 6)
Haití: tablas abreviadas de mortalidada

 Haiti: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.052 0.050  100 000  4 969  96 038 0.938 b 5 985 250 59.9
1 4 0.008 0.033  95 031  3 116  372 945 0.972 c 5 889 212 62.0
5 5 0.003 0.015  91 915  1 421  456 021 0.986 5 516 268 60.0

10 5 0.002 0.012  90 493  1 062  449 812 0.986 5 060 247 55.9
15 5 0.003 0.016  89 431  1 414  443 623 0.981 4 610 434 51.6
20 5 0.005 0.023  88 018  1 984  435 129 0.977 4 166 812 47.3
25 5 0.005 0.024  86 034  2 046  425 054 0.975 3 731 683 43.4
30 5 0.005 0.026  83 988  2 154  414 554 0.973 3 306 629 39.4
35 5 0.006 0.029  81 834  2 378  403 225 0.965 2 892 076 35.3
40 5 0.008 0.040  79 456  3 201  389 279 0.958 2 488 850 31.3
45 5 0.009 0.044  76 255  3 339  372 929 0.949 2 099 571 27.5
50 5 0.012 0.059  72 916  4 306  353 815 0.932 1 726 642 23.7
55 5 0.016 0.078  68 610  5 347  329 682 0.906 1 372 827 20.0
60 5 0.024 0.112  63 263  7 111  298 537 0.863 1 043 145 16.5
65 5 0.036 0.164  56 152  9 213  257 727 0.800  744 608 13.3
70 5 0.055 0.243  46 939  11 428  206 123 0.711  486 881 10.4
75 5 0.084 0.349  35 510  12 397  146 558 0.580  280 758 7.9
80 5 0.147 0.530  23 113  12 245  84 951 0.423  134 200 5.8
85 5 0.217 0.678  10 867  7 372  35 907 0.299  49 249 4.5
90 5 0.280 0.772  3 496  2 699  10 730 0.215  13 342 3.8
95 5 0.345 0.841   796   670  2 307 0.117 d  2 612 3.3

100 ω 0.414 1.000   126   126   305   305 2.4
Mujeres/Females

0 1 0.044 0.042  100 000  4 221  96 586 0.945 b 6 337 757 63.4
1 4 0.008 0.031  95 779  2 982  376 146 0.975 c 6 241 171 65.2
5 5 0.003 0.014  92 796  1 279  460 784 0.988 5 865 025 63.2

10 5 0.002 0.011  91 517   968  455 166 0.988 5 404 241 59.1
15 5 0.003 0.013  90 549  1 201  449 744 0.985 4 949 074 54.7
20 5 0.003 0.016  89 348  1 441  443 137 0.983 4 499 331 50.4
25 5 0.004 0.019  87 907  1 656  435 395 0.980 4 056 193 46.1
30 5 0.004 0.022  86 251  1 855  426 618 0.977 3 620 798 42.0
35 5 0.005 0.025  84 396  2 088  416 760 0.973 3 194 180 37.8
40 5 0.006 0.029  82 308  2 419  405 492 0.969 2 777 419 33.7
45 5 0.007 0.034  79 889  2 678  392 749 0.961 2 371 927 29.7
50 5 0.009 0.044  77 211  3 413  377 522 0.948 1 979 179 25.6
55 5 0.012 0.059  73 798  4 388  358 020 0.926 1 601 657 21.7
60 5 0.018 0.089  69 410  6 145  331 689 0.889 1 243 637 17.9
65 5 0.029 0.136  63 266  8 581  294 875 0.831  911 947 14.4
70 5 0.046 0.208  54 684  11 371  244 995 0.749  617 073 11.3
75 5 0.072 0.307  43 314  13 276  183 379 0.621  372 078 8.6
80 5 0.129 0.484  30 038  14 532  113 860 0.464  188 699 6.3
85 5 0.196 0.638  15 506  9 894  52 797 0.330  74 839 4.8
90 5 0.269 0.757  5 613  4 249  17 442 0.229  22 042 3.9
95 5 0.329 0.827  1 364  1 128  4 000 0.130 d  4 600 3.4

100 ω 0.394 1.000   236   236   600   600 2.5

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


